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總體93/下     第二次考試     班級：           學號：         姓名：
Williamson Ch 10-12 (2005/6/2, 9:10-11:00 am)  
10點之前不得交卷         

總分100 分
I. 單選題 (每題4分，共40分)

注意：答案請寫在選擇題最後一題下面的答案格上。
＊＊CH12: 選擇題4-5, 8-10 （不另標明）
CH10

1. To increase the nominal money supply, the government may do any of the following except 

(a)
drop money out of helicopters.

(b)
increase government spending and taxes by the same amount.

(c)
reduce the quantity of government bonds, with no change in either government spending or taxes.

(d)
temporarily increase government spending, with no change in either taxes or the quantity of government bonds.
2. Based upon the implications of the Friedman-Lucas money surprise model, Milton Friedman had recommended that monetary policy should

(a)
try to stabilize real interest rates.

(b)
try to stabilize real GDP.

(c)
try to stabilize the price level.

(d)
adopt a constant money growth rate rule.
3. Measurement errors of changes in the Solow residual during recessions are most likely caused by

(a)
underutilization of labor and capital.

(b)
underutilization of labor, but not of capital.

(c)
underutilization of capital, but not of labor.

(d)
mismeasurement of real GDP.
4. The LM curve is upward sloping because

(a)
money demand is positively related to output and negatively related to the interest rate.

(b)
money demand is positively related to output and the real money supply is negatively related to the price level.

(c)
money demand is negatively related to the interest rate and the real money supply is negatively related to the price level.

(d)
none of the above.
5. In the Keynesian sticky wage model, an increase in current government spending

(a)
increases output and increases the real interest rate.

(b)
increases output and decreases the real interest rate.

(c)
decreases output and increases the real interest rate.

(d)
decreases output and decreases the real interest rate.
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6. In the intertemporal monetary model, the effects of an increase in the cost of converting other assets into money include

(a)
an increase in the nominal interest rate.

(b)
a decrease in the nominal interest rate.

(c)
an increase in prices.

(d)
a decrease in prices.
7. According to real business cycle theorists, an increase in total factor productivity could lead to an increase in the nominal money supply due to

(a)
the cyclical behavior of tax collections and attempts by the Federal Reserve to stabilize real output.

(b)
Federal Reserve’s attempts to stabilize real output and the price level.

(c)
Federal Reserve’s attempts to stabilize the price level and banking sector expansion of deposit money.

(d)
banking sector expansion of deposit money and the cyclical behavior of tax collections.
8. In the Keynesian sticky wage model, Keynesian unemployment refers to the
(a)
number of workers receiving unemployment compensation.

(b)
number of workers who stop looking for work because they believe that they will not find work.

(c)
difference between labor supply and labor demand at the sticky wage.

(d)
difference between labor supply and labor demand at the market clearing wage.

9. In the Keynesian sticky wage model, the aggregate demand curve represents combinations of
(a)
the price level and the level of output at which the goods market and the labor market are in equilibrium.

(b)
the price level and the level of output at which the goods market and the money market are in equilibrium.

(c)
the real interest rate and the level of output at which the goods market and the labor market are in equilibrium.

(d)
the real interest rate and the level of output at which the goods market and the money market are in equilibrium.
10. Investment demand shocks in the Keynesian sticky wage model are not a likely explanation of the typical business cycle, because the model counterfactually predicts that

(a)
consumption is procyclical, investment is procyclical, and average labor productivity is countercyclical.

(b)
prices are procyclical, the real wage is countercyclical, and average labor productivity is countercyclical.

(c)
prices are countercyclical, the real wage is countercyclical, and average labor productivity is countercyclical.

(d)
employment is procyclical, prices are procyclical, and average labor productivity is countercyclical.
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II. 申論分析題：請做圖並說明過程。 (共60 分)

答案請直接寫在題目卷上。
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1.
In the monetary intertemporal model, suppose that the money supply is fixed for all time. Determine the effects of a permanent increase in the quantity of government purchases on current equilibrium output, employment, the real wage, the real interest rate, the nominal interest rate, and the price level.  Please draw graphs and explain your results.  (14%)
CH11
2.
In the Real Business Cycle Model, suppose that the money supply is fixed for all time.  Determine the effects of a persistent increase in total factor productivity on current equilibrium output, employment, the real wage, the real interest rate, and the price level.  Please draw graphs and explain your results.  (14%)

3. In the Money Surprise Model, determine the effects of an unanticipated increase in money supply on current equilibrium output, employment, the real wage, the real interest rate, and the price level.  Please draw graphs and explain your results.  (14%)
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4. In the sticky wage model, suppose that the economy is initially in a long-run equilibrium.  Please draw graphs and 

(a)  Explain why money is not neutral in the short run. (12%)

(b) Explain why money is neutral in the long run. (6%)
